Eﬁ PART — A : General Knowledge

1. Which Act separated Burma from India ?
(A) Government of Indian Act, 1935 (B) 1833 Charter Act
(D) Minto-Morley Act

(C) Rowlatt Act

SIBGFFLL_LD LIFLOTGHGY @B wrailel BG5S LT
(B) 1833 ' wés’ 1 b

(A) @BSw s FLL LD 1935
(C) Qparevr’ FL L _Lb (D) hesr@r_m-1omial) &1Lt b

2. Name the Nayak who inaugurated the kingdom of Ramnad.
(A) Muthu Krishnappa (B) Muthu Vaduganathar ’

(C) Chokkanatha Nayakkar (D) Vishwanatha EY[E
EI%

@umopns Spprams CSTLEIGMAISS FTUSET WTT ?
(B) s au@sprsit

(D) adayeuprsi

(A) @pés1 DpapawniiLii
(C) GClandamns prussi
D 3. (i) The Mangulam inscription mentions the king Nedunchezhiya Pandian.

(ii) The Mangulam inscriptions were depicted in Tamil-Brahmi letters.

(A) (i) only correct (B) (ii) only correct

(C) Both (i), (ii) are wrong (D) Both (i), (ii) are correct

(i) omrigemh sevGleuL’ B Limesmy weir Gl@ E5GFLwer UPD &GS
(ii) Lomsiganth Sev@eur’ B S1Bp-197ms) e11pS5IESETTE) CILITPISELILIL L GO,
(B) (ii) @b &l

(A) (1) w_G\b &M
D) (i), (i) @oain@ib &1 -

(©) (1), (i) @oearGd Saumy
4. Which of the following statement is true ? E¥E

(i) In Sangam Age the Kingship was hereditary. F,—f%ﬁ
(ii) The King was called “Ko”.

(A) (ii) only = (B) (i) only

(C) Both (i) and (ii) (D) None of the above

GLp % GosTL— FnPMIFENG) GTEG 2_GiemLnwiTaTanal ?

(i) sBissTSG JYIFTAaLD LUTbLIG puITeTS-

(1) yper “Casm’ eTar YPHBLILIL LT,

(A) (i) or” Bub (B) (i) oL @b

(©) () wpmb (ii) Grew@ b (D) @aupPIeL TGIaLb @evena

R

o A A 4 1 2ttt 1
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@ tch the following : )
5. 1:[3 ;t. pavid Fort (i) Calcutta

p) St. George Fort
C) St. William Fort

d) St. Louis Fort

(i1) Pondicherry
(iii) Chennai
(iv) Cuddalore
(B) (i), (i), (), (i)

A) (i), (i), (i) (@) ), i
((C; (iv), (iif), @), @) 7 ) (i), @), - (iii)
L EIB

?)u Z%f@L,G)ﬂL'_ GomeoL (i) @VSSST %

b) yells gmigy Cam—eL- (i) wmemgdGed M2

c) yalls Sevedwd Gam e (i) ClearenaT

d) yafis guruiev GarL e (iv) &L o

(4) (@), (@), GiD, 0) (B) (iv), (iid), (@), (1)
D) (ii), (iv), (@), (i)

(C) (iv), (i), (i), ()
6. The President of India can nominate
(A) 12 members of Lok Sabha
(C) 12 members of Rajya Sabha
SIS SEIGATTEV BublssLiuGL
(A) Gomssmudy 12 e piiianise
(C) mew saLde 12 o pilerniser
7. Which house of the Parliament is known as Permanent Hou

gets fully dissolved ?
(A) The Lok Sabha (B) The Rajya Sabha -

(C) The Ministerial Cabinet (D) The group of Ministers
BTGB L0GDEBG GTHS JIena FI_T@BLOGIDSRIGH BT Sjenauins HpiLBGEDS!
(B) wmbeviisarensu

(B) 2 members of Rajya Sabha
(D) 14 members of Rajya Sabha

QUITEHGIT
(B) prsbw FemLs& 2 o mILIL S GTIIS 6T
(D) grshws Feniid 14 2 piSeias
se of the Parliament that never

(A) wésaraney
(©) Yyawssgeneu (D) syemwésisar gup glsggi
. . ER:
8. What is the time Iimit to get the information from RTI Act, 2005 ?
(A) 20 days . (B) 25 days (C) 30 days (D) 35 days
S5a16) . « =y b 2005 er .
iy Iflytb 2 Mepod FL-L-LD Ly sl QuniaIgHETRT HT6v

9 (A) 20 pm” s6ir (B) 25 B &eT (©) 30 pm sar (D) 35 i seir
+ The electora] in Indi
system in India has been adapted from the system followed i
' . ed
(é\). United Kingdom (B) USSR + (C) France (D) Chinzlln e
'5 . . 3 3 ) :
Bu Gsfige wpop @ ASTLDPLILGL Ggiga pdpsaarts erum)

A) 9ue UL g.
VTES) 6t B g -

© @mwbr.@w (D) Conaflug pajpuirefia .

_— o (D) Sammaded

i e,
DR
" PR

TRV
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4) The mini Constitution (iv) Jawaharlal _I}{ehlju o
(A) (), i), Gii), (iv) (B) (i, (iv), (1), (i)
(C) (111), (iV), (ll), (l) (D) (IV), (lll), (11), (1)
Ounssis ; _
) uydenms o1 3 (1) 42 qugy gyg@wmmmuqé L SB Bésih
2) (Lp&Eayenr (l]) 2004
3) G)arLbG)LoﬂgS)—gLé@ (iii) 1955 ESE
4) @ny g/g@msvfmmuq (V) @ausieyre Gmm %
(®) G), i), i), (v) ®) Gid), (v), G), i
(©) (iii), (iv), (1), (3) D) (iv), (iif), (i), (1)
11. On which river Tehri dam was constructed ?
(A) Kosi 1 (B) Krishna (C) Narmada (D) Bhagirathi
Q5@ oyenany bS5 WOD6HT @14 a;L;L_lIrur;@dngl ?
(A) Gsns) (B) &) lycwry (C) Biineng D) wngpg
12. Which country shares itg shortest border with India ?
(A) Nepal » (B) Bhutan (C) Afghanistan (D) China
GDISw Bev CTEODRW @b Gy STbS BT (hL_eir L&) gy Qarrdr@,r_n)g,; ?
(A) Crumems \ B) yt_meir -
© %ﬁta;naﬂdvgnc&r (D) &arir
13. Where is the National Jute Board héadquarter 18 located ?
(A) Kolkata (B) Mumbaj (C) Chennaj (D) Delhi
Cas8uw sama UGS e3r BN Loy g} 6TBIG, SIDLoB G eiTarg o
(A) Qanci)a;,ésg,rr B) wiben, (©C) Qcsraney - D) Orsvad
14. Which of the’following is true ¢
Assertion — A - Tamil Nadu is locateq in Deccan Plateay,
Reason - R - During Cretaceoys period thig part got separated and formed Gondwanaland.
(A) “A’is correct/ ‘R is Wwrong (B) ‘R’ is correct/ ‘A’ are wrong
_ ESE
(C) ‘R’is not related to < A’ (D) ‘A’ and ‘R’ are correct g&g
Lﬂsirm@umm,r_f),r_rﬂd; Filwnerg eTenGy o
Py SugpL 9

Match the following : -
. l;/;a Citizenship Act (i)

42" Amendment
2) The Preamble (i) 2004

3) Classical Language-Tamil (iii) 1955

LB TIILIGD 534,517 S Bued s0psrE
AD LB ereng,
STIeRILD QuiLEs @@.JLGL_@
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.

ich the following :

" Ma
i Hill Station _ ~ State
1) Mussoorie 1) Himachal Pradesh
2) Shimla _ﬂ) Kerala
3) Munnar 1_11) West Bengal
4) Darjeeling iv) Uttarakhand
(A) i, ii, 111, 1V (B) iv, iii, i, 11
(C) iv, 1, 1L, 11 (D) v, iii, ii, 1
QUIBSSIS °
Lo TLAIL_BISGIT LomBlevid IBEIE%E
1) pGeaml i) Q@urseainiGesn B
2) Gubevr i) Gsgerm
3) epewtiml iii) G eukisTenD
4) Lnigdladlss iv) 2 g@gsmehr
(A) i, i, iii, 1v (B) iv, iii, i, ii
(C) iv, i, ii, iii (D) iv, i, i, i
16. Which hormone is associated with our immune system ?
(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin

B CEmils SeHL_HILIL] LOGTL WSS/ 6T ClSTLTLjemL i apmiGLomesT 615 ?

(A) @ersadleir e (B) angGrom@lesr (C) emsgrseder (D) 9 Meralles

17. Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.
(A) Assertion correct, Reason wrong
(B) Assertion wrong, Reason correct
(C) Assertion and Reason both are wrong
(D) Assertion and Reason both are correct
DM : ool GL rames Murasen QFaleT AP 2 mesHEr 6T6TI
S|P &S LILI () FGHTD GO
STIGHTLD : ey LOenSWTHDEOL!
(A) ®pmy &M, srgewrd Seaumy
©) by, smyewrd @@L S

Qupp ATP ppeudgapisenar o (HeuUTdESGF DS
(B) aapmy seumi, SToewId Fiil
(D) spmi, srgewrd @)uesstid Fifl *

18. Match the following : E]gég
a) Vitamin C 1) high fat [EI¢
b) Avocado 2) iron
8 %eethaphal 3) fat soluble pigment
arotenoids  4) Guava
(A) 2,1,3,4 ()B) 3,4,2,1 © 1432 D 41,23
g s
2) 2 Wisage C 1) @55 2 QEmepLiLy
b) SuGsGLy 2) @@bus T4
3 85 Lipih 3) QanpLiiidd S@Iwdgn g w Bl
‘95@0#1.'_:_@@;”,,;,@5@ 4) GQlemiwm
W 2y e T @ L432, @) 41,23

0t 11 Lt o B
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19. A disease which weakens the bones and makes it brittle js
(A) Paralysis (B) Osteoporosis*  (C) Fatigue (D) Nerve Impulse
qQbLsamer augyalipds Ceiig Jyapap 2 aL_Wésm Iy Flaewss Clsme
OlFevayib Gl
(A) ussaunsib (B) e 19 Gun@uin@un@lan
(C) samertiyy (D) pibLis gresm_ab %El

(=

&

20. Select the correct option :
Statement — I : When vegetables are cooked in water Vitamin - C is lost.

Statement - II : Vitamin — C is water soluble in nature.

(A) Statement I and II are true (B) Statement I and IT are false

(C) Statement I - true, II - false (D) Statement I - false, II — true

Fiwren aflen_awg GsinQs (.

&@oml -1 : smisfsamer B FoLEGLD Cung), o isssg) — C QpésiL(pEng.
&om—1I1: o uiliidssg) - C, £hev &EIULD FeHTanin ClEreiTL ).

(A) &ppy T opaych 11 & (B) spmy I opayid 11 geumy

(C) wpmy I &, 11 souny (D) &pmy I sougy, smpay 11 sM »
21. When white light enters a medium, which colour travels with highest speed ?

(A) Yellow (B) Red (C) Violet (D) Blue

Qossirevar gal it san_ssBayer Qecvad Gungi, as Apib 9B5 GeaussBa
ClFabgyLh
(A) weper B) feucry , (C) sargm (D) Bevib

22. The instrument used to detect the presence of electric charges in a body is
(A) Microscope  (B) Voltmeter (C) Electroscope (D) Ammeter
Cluneir @eileh Lheigsersar QLIS ST LUGTLGSSILEL &(Haj)

(A) mierContns) (B) Geumabr” L.gl;l._ﬁ'
(D) ybbLLii -

(C) Blevevilairsm g %ﬁ

23. V=1R - 5

(i) The above formula was given by George Simon Ohm. | .

(ii) In this Formula ‘V’ stands for potential, I’ stands ff)_r ‘_mﬂent and ‘R’ stands for Iesistance,

(A) Only (i) is correct (B) On].y (}1) lsdcqureclt .

(C) Both (i) and (ii) are correct (D) Both (i) and (ii) are incorrect

V=IR N b e B

() Gupsplw swerim( %‘7”8.? MFLOGHT QLD GTWU‘WD' : g{muuu;__t__ 3.

(i) Gupmplu FLUTEED V> ggrLig) ﬂmmgﬁﬁﬁﬁgqm T
L&G&erm;L_g'méullb , ‘R eTaiTL ;) L&Gifrg@f—fmwl.qw @ﬁa@m‘

(A) (i) @b & (B) (ii) @b &

(C) (i) opmyeb (if) &7l (D) (i) Lopmid (ii) #fly gy,

v i s . - i —_
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24.

25.

26.

27,

28,

29,

-~
..

i 7
: hich nuclear fusion produces energy in the sup 9

(A) hydroger: 0 SOd-lum (B) lithium to hydrogen

© hydrogefl foholiim (D) hydrogen to iron

app ADIEEO @Gmimmﬁ?@m@ Glwele) gypped o (HTHSDS! 7

() el ageledais Computs (B) asPusBadlonsl mem I

©) wapi rReNe@ss sl (D) mant sgeheiois SO
Cryogenic propellants used in rockets are at

(A) very high temperature (B) high temperature 2

(C) room temperature (D) very low temperature
@Uﬂc%@ﬁl'—@ﬁﬁ"ﬂ@b LweTU@RSSLIL@L SgrCGum Qeafls QuSS QT TSET

(A) Hs 9455 QeuiLBlenauied @)BEGLd

B) 9B CauLiLfamauied @) BSGLD ngs%[g

(€) syep QauriiBlerauiled @) BEGLD :

(D) Hsé GoPHS QauriuBleauied @)BSEGLD

Laughing is good for health, because it reduces the secretion of stress hormone secreted
by and makes us to relax. :

(A) Adrenal gland (B) Thyroid gland (C) Gastric gland (D) Thymus gland

§ificiy o ; : Qegasficv AALIL, SSLIL anriGLomeGTTes
aﬂég%m%%a.;%; ;vgif@w@u Blanaws S Csre(h B GTDS-
(A) @i’ Aewed @i (B) anggmil® ST

(C) &gewr g9 (D) esLoav FILis

A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation (D) Mass Selection

@ 2 Mg D atr wgud@un@ﬂﬁd’ BieClyer gHLIGLD LOAPHDLD TGS T
&m&peﬁ&ﬂu@@m@_ . . .
(A) SLIYMISSLD (B) Qupenss Csiay
(©) 508 wmpis (D) =G5 GioN
In which of the f; . d is stored in stem ?
ollowing plant fo0 .
(A) Beetroot (B)gCarrot (C) Potato (D) Radish
Weiteugeuasey Dmyeir 155 TeugLh gﬁ,mq,ai) o_awreneu CFLbSHTDS ?
(A) L e (B) Gﬁ?l;‘. E4E
© > GevonéBupris (D) parersi& EI“%
E:hoose the correct pair - ‘
A) Vitamin A — Rickets * (B) Vitamin D — Xerophthalmia
Vitamin B. — Beriberi (D) Vitamin B, — Scurvy
Fllwsmes : p
(A) mm@mmsmm Gﬁﬂﬁﬁﬁ@ (B) el _hler D — QGHﬂﬂgﬂabL&mq

L1 18eir A — M&GsL-Y
il (D) ewaur_ LBt B,— aivasiial

& )
5.__) DU ifsir B, — QMG
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30. ELISA test and WESTERN BLOT test are used to detect

disease.
(A) Typhoid (B) AIDS (C) Polio (D) Cholera «
areller Gangenar whmyh Qeuevr L st (Serm Cagem e Crmis LBy
SETL_ D LIGTL RS D).
(A) eL_oSLmii® (B) eriii”aw %%g
(C) @anbierener aunsLd (D) smevgm [=le
31.

Assertion (A): The President is the Supreme Commander of the Armed forces of India.

Reason (R) : The President is the head of the State and occupies the highest position.

(A) ‘A’ is correct and ‘R’ explains ‘A’ (B) “A’is correct and ‘R’ does not explain ‘A’

(C) ‘A’is correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong

FnOmy ! GUWISS ST @)BESW P WSLILIGHL HeNGT SEHEILD FeTLISB)
QLEUMTIT.

STPGSSTLD ! G WISHS ST BT 1363 SIS D% o wiksd Lsal)
Bleneventiuyid euFEFmmi.

(A) &Py &, sngesid FpmISsTeT Fhwmest aerdsLOME@LD

(B) spay &M, sngesiid FpmidsneT FHwmest aleTdsLO606

©) smpmy &M, srgewTd Seumy

(D) smpm, sagewsib @)uessr(HLb Feumy

32. Who introduced the Local Self Government to India in .1882 ? '
(A) Lord Curzone (B) Lord Wellesly  (C) Lord Rippon (D) Lord Hasting

2 etanm" ) syewioliLysenar 1882 ov @p@wrailed ABPSLILGSSwar wmr o

(A) sigesr 90y (B) @m@b@@v?‘fvfi& Ly

3 (C) e Aoy (D) Gameivigmien Ly

} 33. Where is the headquarters of BRICS Organisation 10u.:ated ? .
(A) China (B) Brazil -« (C) Russia (D) South Africa
LIf&ai SeLDLILNGT SeevenLOwELD 6TEIE D LLHSITTTSI 7 .
(A) e (B) 9Gr@eb (C) peiypwim (D) OlseresminIfssny

34. The disputes between Central Government and the S'tate Govemglensts are adjudicated by

(A) Parliament (B) High Court (C) President .( ) upreme Court
oSS wi-LOMBIeY YTFTEISEISET @)enl_ufevnest FobHeOHDN -:6”-5_5-’ COUSSLD HYewmLory o5y 9
(A) pm_repiocipis O e B
(C) Gywiss ST (D) 2555 EES

35. Which of the following State have ahcomrnor;3 I)_Iiﬁ];rf;u; c‘; —

(A) Tam_ileac:iu ;:d ?;jhra Prades ED) Maharashtra anc_l Gujarat

(C) Punja an ; ry e 1) ounrerr 2 tWAB® LOGTDS S G)L@Q,Gﬁmw \
Sipsangpid e1bs LoMBIEIEET cL,; o (B) Gasgart wppI CXBIBIS Ty,

(A) sOpEr® wHpib bBINTCSFLD « 10 GIT LODMILD .

(C) uEsan wHpb apRwreTT (D) osmpmoys” Se&ong

o e e T g
o = ——
s b s e e e —
it 1 S —
PR - —y et
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36. Which ?ndian has wo-ngNobel Prize in Economics ?
(A) Kailash Satyarthi (B) Mother Teresa
(C) S. Chandra Sekhar (D) Abhijit Banerjee
G)urr@mr@ﬂ.ﬂ_é;'@ab C.é’grrus'u ufs Qeusim @EBwit
(A) 66?6.5613“633' '5‘;5"-'””%.@ (B) yciremew Glggem
(C) aTeMW. dﬁ@@ﬂ' GaFasir (D) -:3]“—9@75 G’umﬁgé}
37. Which of the following is a direct tax ?
(A) Excise duty (B) Customs duty  (C) Income tax (D) Service tax
g&bm@mmm'@gyeh 618 GBiwps eufl ?
(A) S@TeV euifl (B) &mis eurl (C) eugpLOTGT f.urﬂ (D) Geemeu curl
38. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?
(A) The Nilgiris (B) Nagapattinam [i]glzl
(C) Thiruchirapalli (D) Thanjavur [t
2011 sewsQ &@LU, SOPFTIGE THS el LB urelar al@sL
YPHLOISH 2 6T
(A) Baw&if (B) prsLiL 1qewiLD
(C) B@wéRgniLicrall D) seEpsTT
39. I) Nationalisation of banks was effected in 1969.
I ICICILis a Nationalised Bank.
(A) Only I1s true (B) Only Il is true »
(C) Both I and II are true (D) Both I and II are false
1) 1969 eSphbg cumES6T L (B LOWTESED QurwebITL g6 2 GTaTS!.
1) ICICI 6168108 S Gg.@mwmwrra's&:ﬂuﬁ:._ cumIG)
(A) I @b &M (B) II oL @b & .
(C) 1 opmyib I @uatr@d &M D) 1 opmyed 11 @uam@t> S0
40. Stock Markets in India are regulated by ' .
(A) RBI (B) Ministry of Corporate Affairs
(C) SBI (D) SEBI'® gﬁ‘
3 . - ? E
@EBwreler LikE FH@SHE® N pupiEUUGSsIaS a2 ¥ o
(A) @sPw rﬂgﬁf Gug@ (B) Qi@ Hmyeuan aeSTIREN 4"‘“’”’5?;” :
. . oL 75 QUL
O o G s @G (0) @B e 08 PRSI
: ies ?
41. Find out which one is not in the Food Quality and Safety Contro(l];;g;;%es
(A) FSSAL B) AGMARK  (©) FICCI S A
AerapeuaTaudBled 618! o @ LLPHILD ﬁﬂasas;@luurr@ ED[;) 0
(A) FSSAI (B) AGMARK = (© FICC
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4.2. .Pernicious anaemia is a deficiency of —__ Vitamin,
(A) Tron (B) Cyanocobalamin *
(C) Folic acid (D) Vitamin K
Cluiefafuien Qss Cerensanu TOLIRGS)Lh 2 liéag gy G®D LI
(A) @@quégggl (B) FWCTCs L ranLh) sl
(©) %Cuneis 9JLhlevih (D) o Wilidsda K EYE
43. An example for decomposers are and =
(A) Bacteria, Fungi » (B) Bacteria, Lichens
(C) Fungi, Lichens (D) Algae, Licheng
Gmguumammas@;es@ TOSS1EET s LOHMLD
(A) undie fuirdser, Uehensser B) unésmrﬂwns;a;m, WS 0% 6ir556ir
© Hesansser, aneva, & G155 61T D) yearsse, @64 0)% 6h15 67
44. Identify the true statement with reference to noige pollution
Statement — | - Noise is the unpleasant soung.
Statement — I - Reduces depression ang stress.
(A) Statement | only true ¢ (B) Statement I only true
(C) Statement | and II are trye (D) Statement and II are wrong
12Ty, GDS53 Fhwires UTEG WG e g; HETL_fas,
UTESnp -1 - @\af)

WLOWImH @mgéawnm gadl,

@ Gaitey (o) A WSSGams GPDER g,
(A) aumg@u; Lol Qb &) B) cwné@uip 11 WL Hib &)
(©) wré@uip | woHmb 11 Filwrengy

UTESBunp — [ T

(D) curé®uib 1 Lwpmib 11 BUD TG g,
45. Match the following :
Conservation Law Year

1) Project Tiger a) 1992

1i) Project Elephant b) 1999
iii) Sea Turtle Conservation Project ) 2020

1v) Indian Rhing Vision d) 1973
(A) i—q i-a i iv—c s
(B) i-a li—c jjj_gq iv-b

©) i-p ii-q

lii—¢ iv—g
D) i—¢ U-b  jij—g iv—-q

@un@,&_i,g,]as : E'JEEI
_ Conservation Law = Year
| D yeQser HGISmLy By a) 1992
A 11% Wnenewa; gy Lng)smyy B g b) 1999
: ) &6 A LG 6y urrgga;rnqu @L’_Ll_b
(23 @,r_r}@w asn@iuTLnL&@ws'Jaseir U i
1-d i i

- v

M
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9.
ﬁ& : Which Indian has won Nobel Prize in Economics ?

3 (A) Kailash Satyarthi ° (B) Mother Teresa
(C) S. Chandra Sekhar (D) Abhijit Banerjee
QuITEETTSTISS Grprued ufg: Cleuep @BSwi
(A) BT FSWTTSS) (B) yeiremar Qsusm
(C) eTan. FhPy Cosi (D) o920 Guieuigd)

37. Which of the following is a direct tax ?

(A) Excise duty (B) Customs duty  (C) Incometax (D) Service tax
Q@W@GHG‘WGH.@Q]G’]T 618 Cmips euil ?

(A) sevmed aurl (B) &% eurl (C) euqpLomewt :’mrﬂ (D) Gsewou eurl
38. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(A) The Nilgiris (B) Nagapattinam Elgl:l

(C) Thiruchirapalli (D) Thanjavur =

2011 sewTd@s@rIAGTLIL, FLOPBTL 19 6OT 6TBs el L B LTede a9 g Lb
SYPSLOTS 2GS

(A) Ba@f (B) prsLi g euih
(C) BwsPomrcirerd (D) sersmat -

39. I) Nationalisation of banks was effected in 1969.
) ICIClLis a Nationalised Bank.
(A) Only I is true (B) Only II is true »
(C) Both I and II are true (D) Both I and II are false

1) 1969 SHHsI eumEISS6T B (B LOW TSV QuErweLITL 196D 2 GITATSI.
I0) ICICI ereirLig) @@ CsRWLOWLOASSLILIL L GumI&)

(A) I @b i (B) II o B &
(©) 1 opmyib T @uas@id &l (D) 1 opmyib Il Guaw@id so101
40. Stock Markets in India are regulated by '
(A) RBI (B) Ministry of Corporate Affairs
(C) SBI (D) SEBI * %
QESwredle LIkE FhaSHaar eurGLILGSsg o5 7 BE
(A) @BSw Maic aumG) (B) Quap Blmpieuet S USTIRIGET DEILDFFHLD
(©) B Gumis 1 @BSWT (D) @BSw LIk LoDDILd LfeuidgsenaT aumiub
41. Find out which one is not in the Food Quality and Safety Control Agencies ?
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO -
eireumeueTeunpley 618 2-68T6 Loppith SISSL@LIUTG HimieuaTLb SV
(A) FSSAI (B) AGMARK ~ (C) FICCI (D) FPO

WWW.TAMILMIXEREDUCATION.COM
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42. Pernicious anaemia is a deficiency of

Vitamin.

(A) Iron (B) Cyanocobalamin *

(C) Folic acid

Cuiafafuey @Quss Grmeavaemu TDLIBS S

(A) Qwbyssss)
(©) %Cunadld eyfevih

(D) Vitamin K
b o uilii&es gy GdpLAG
(B) swCewnGsmunsviday

(D) o udissgay K

43. An example for decomposers are and

(A) Bacteria, Fungi »
(C) Fungi, Lichens

FsiiLermasense, THSGIEETL (HSeir
(A) unste Awnsser, Lesanaser
(©) yesawsser, mewsdGaarsdir

(B) Bacteria, Lichens
(D) Algae, Lichens
Lopmih
(B) undie Nundser, enevdolseirssr
D) wdsrsadr, D6 6)s i1 6ir

44. Identify the true statement with reference to noise pollution :

Statement — I : Noise is the unpleasant sound.

Statement — IT : Reduces depression and stress,

(A) Statement I only true *
(C) Statement I and 1T are true

96 s P45 shuire WUTES WS Saim_ps.
UTEEunp -1 ; Qaflanowpm @ giFevnes aadl.
un&&unp—1I : ey Gamitay (1o) AWESIMS FMDERNG).

(A) aure@uih | L (b &)

45. Match the following :
Conservation Law
i) Project Tiger
i) Project Elephant
iii) Sea Turtle Conservation Project
iv) Indian Rhino Vision
(A) i-d ii-a iii-b V- »
B)i-a idi-c ili-d ijv_b
(C)i-b ii-d ili-¢ jv-g
D) i-c¢ di-b ijii-a jv—4q

Curpggs : ElgE!
Conservation Law @
D yaSsar URGISTLIL B 1 1h

1) wirenesgr UTSISTOL S 1 _1h
1) &1_ah BWLOEGT LINGISALIL B4 45

Year
a) 1992
b) 1999
c) 2020
d) 1973

(B) Statement II only true _
(D) Statement I and II are wrong

(B) euréGuunb 11 L GHib &M
©) aung@uwip 1 opmiib 11 #flwmersy (D) eums@uwid 1 wodmyip 11 SUDTGIG)

Year
a) 1992
b) 1999
c) 2020

V) Q8w sraim_mAmeriser ungisminy S d) 1973

Wi-d di—a fiicb jy—g
(B)'g—a li-c jli-d iv=p
©i-b 44 fi-c jyv—q
®i-c iy i, iv—d

e b b -

———— e
"--»-—-‘..u..«..—--.u e e

R et vy s i g Pm—
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i P
6. The Vacuum Flask was invented by
(A) Kelvin (B) Antoine Lavoisier °
(C) James Dewar (D) Pascal
Qaupdid GR@amU SETHLIg S0
(A) G)a.si'm-ﬂm _ (B) yarGlLmisair evaumiterwi
(C) Gggtbav Gloumt (D) umevse
47. While goigg for a ride in merry-go-round you experience an outward pull, this pull is due to
(A) Centripetal Force (B) Centrifugal Force  mum
(C) Electrostatic Force (D) Magnetic Force DE’%?

GO @I 1y eTSEIGY HDHMILD Qumipg, Hriser QeueNCrré&u Qanaru%b @
ensani o eRPiser, @eiallangssner FTJESTLD

(A) eww Crrs@ allas (B) eniow aflevdi@ allans ~
(€) Reavew ilcirallwed allane (D) sMis allens

48. Choose the correct pair :

(i) Atmospheric pressure a. Newton

(ii) Force b. Pascal

(ii1) Mass ¢. Kilogram/metre’
(iv) Density d. Kilogram

(A) ()b (i) ¢ (i) d (iv)a *

®B) ()b (i) a (i) d (iv)c

(©) ()c (i)d (ii)a (v)b

D) (i) d (ii) ¢ (i) b (iv) a

Fllwnar @)emenrenils GsipOsESFMLD-

() eveflei_ev LSS & By L6
(ii) aflens b, LITGVSGE
(i) Aevm c. §Gawn@gmb/ L
(v) 958 d. ®CGar&gmd
(&) ()b @)cdd (V)2  geg

(B) ()b (ii) a (iii) d (iv) ¢ %

© e GydG@a @b O

(D) () d (ii) ¢ (i) b (iv)a

49. Which unit is used to measure the intensity of sound ? _
(A) Hertz » (B) Light Year (C) Candela (D) Decibel
Tl _LiLGEDSI

@alluflcr Qedleunang 61HS W& I

QL F6e
A) Qapices  (B) gofl 20 @) B=EEE

(C) Gaagrg.am

30. Boiling point of water is 100°C- Jts value 1S eéluallgg . (D) 200°F
(A) 273.15K (B) 212°F ©
. . o O & F FLOLDTESIS]
B Qurppere 100C GIEV T g~ OVIOE e

(A) 27315k (B) 212°F

o conastm
e — v s

i g ot i
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S1. Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil

6153 B ooLNedLim 2022 2 evad CsmiienLienws BL_$Sa[6Teng ?

(A) oCwidsr  (B) sgsmi (C) pelywm (D) 9Cr@e»

52. I) NATO is established for providing mutual defence to member countries from an attack
by an external party. EI e

II) Russia is a member of NATO. ‘Eﬁé‘i
which of the above statements are true ?

(A) Only I

(B) Only II

(D) Both I and II are not true
I) NATO erirug) e@ Qeuessilearier STéGSMd Q) mbg 2 miiy OIS
ugevLy ungsmidphens Blpjeuiun’ g,
) geywr NATO adeir 2 pitifergng o cireng).
GoGev Csr@ssliu L 566 155 Spm) Flwners o
(A) I o @ub (B) II ioe” ®1eb
(O I wpmub 11 (D) T wodmyh 11 SQUDTeHIG)
53. Who is the first Indian to have won Golden Globe Award ?
(A) M.S. Subbulakshmi

(C) S.P. Balasubramanyam

(C) Both T and II

(B) Latha Mangeshkar
(D) A.R. Rahman

Camavi_air @&Gamm alGes Cupp (Lps e @BSwi w9

(A) emb. ereiv. &1L eva531H) (B) ewgm waGsavsmt

(C) eranv. L9, unevs 1 9gwessflush (D) &1 <y, papiomaer

54. What is the expansion of UAV ? "%ﬁ
(A) Unarmed Aerial Vehicle & (B) Unmanned Aerial Vehicle
(C) Unique Armed Vehicle * (D) Unmanned Attack Vehicle
UAV @it eflaundsib sresran o
(A) ety ib® eiwed eursens, (B) Syeiromain® erfweh eumsenp
(C) yalld <ib® aunsemi (D) Syetronea® o CUTSGTLD
55. International Yoga Day is celebrated on
(A) January 30 (B) May 1 (C) June 21 » (D) November 19
2.ws Gurar Hand s Brefleh G)esrr@fun_m_l_‘ru@@,@gu ?
(A) sgareud 30 B) Guw 1 (C) egoair 21 (D) panbu 19
56.

James Chadwick discovered the particle ig
(A) Electron ® (B) Proton

(C) Neutron (D) Positron
Cgioaiv o1’ 0flé Gain Bl b5 giae
e D) T ey (B) LGt ey

Q) By (D) urede ey

N Ve e et i
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nt : The reaction that takes place in rusting of Iron is oxidation.

Because iron is converted to its oxide.

d Reason are correct (B) both Statement and Reason are incorrect
(D) only Reason is correct

b eSlewen gy sediggCaTpoLd

57. Stateme¢

Reason :
A) both Statement an

(C) only Statement is correct
@b QuiTsL_S6iT SI(HLIG S penL Gl

Fpl :
&L . .
FTFERILD - grelaraflad @)L YS6HT Y ben&FBHIBETTS Loapp LI BILD.
(A) Fpmi LDDILD smyestth @uata@iLd &M (B) DDl LommjLh SHTIGEILD @B S
(C) &DD L Gb & (D) smyewILD L @b &M ,Els;‘élil
58, Choose the correct acid and its use. E?ﬁ
(A) nitric acid — digestion of food (B) sulphuric acid — bathing soap
(D) benzoic acid — detergents

(C) vinegar — preserve food materials
e jLilevth LoHMILD I SGT LI
(A) enpL_Ms oyiflevLd — o aTayIGlIL

yflovib — Ganwed GFmiiL
GursToe @)BHES 4

o 11010
AT e G QAo resLd

(B) saLiuyhs
(C) adevflsi — o eurayll Qe G ()
(D) Gughramulis gblevth — s GamiiLy
e mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen

SMEHLOQDTED, LD (@5 FGIT BIDLOTS LIDISDHE CThS M (LpSEIW STIeRTLOTEDE ?
(B) <ybGromafluim

59. Which gas is responsibl

(A) sabui o psF® 1
(C) &Garmistr (D) ewani g6
60. The most commonly used cooking gas contains LPG which means ?
(A) Low Pressure Gas (B) Liquified Petroleum Gas °
(C) Leak Proof Gas (D) Low Phosphorus Gas
Qurgiours 2BG eTailed LwGTUBLD FLOLIGD aumyaded 2 erer LPG GTGTLIGI
(A) Gopss IAWds VM (B) BlgeuLonssLii L QL Guredlw eumyy
(C) sfeueni_wng ey (D) Gephs LrevLIFa alm
61. Who is Greta Thunberg ? %%E;J
(A) A Scientist ' (B) A Holywood Actor
(C) A Tennis Player (D) An Environmental Activist for Climate Change
&6y L 5e76lLtS ereTLIGUIT WiTT 7

(4) @ afe5@pre
B) 9@ anreday - 451

©) @@ Csranav oIt

D) 9@ ugapaa LonDPSEDET FDDIFE P UG -

il R
LT i v
——r ©o sty
ot bt ot e it 1
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62. -What is INS VIRAAT ?

(A) Submarine (B) Warship
(C) Aircraft Carrier (D) Missile
&. GT6T. eTav. AIFTL. GTGIMTG) 6TGHGH ?
(A) B epp® L6y (B) Gumig stiue
(C) aYwrerd sTEIS SLLGD (D) eroysemesst
63. Match the following : Eﬁ
(a) Ponniyin Selvan Bl (1) Seethalai Sathanar
(b) Manimegalai (i) C. S. Lakshmi
(c) Kuyil Paatu (ii1) Kalki

(d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(A) (i), (@), (iv), (ii)

(B) (), (), (iid), (iv)

(©) (), (i1), (iv), (iii)

D) @), (i), (i), (iv)

AN GETAL

(@) Qunesranuier QFeveusir
(b) LoaflGosmey (ii) C.S. evaph

(c) Guiled LT ® (iil) &)

(d) Rauy swpsgier @@ UFos Upmes (iv) liToeiu umgs)
(A) (i), (i), (iv), (ii)
(B) (1), (i), (iii), (iv)
(C) (), (i), (iv), (iii)
D) @), (i), (i), (iv)

() Gssame sndgermt

64. Who is the President of Ukraine ?
(A) Volodymyr Zelenskyy «
(C) Boris Yelstin
2 Semgeflel &L WIsHs S@meelT Wi o
(A) Gouneuig Bt QFavsirav®
(C) Gunfav ereveviecir

(B) Vladimir Putin
(D) Denys Shmyhal

(B) afleumigibi 119 681
(D) Gl_airasflav Ruwimibamme

65. Ason 31% Jan. 2022 which State has ; : .
i ate has nstalled highest overall ;n;wable energy capacity in
(A) Karnataka

(B) Gujarat Ol
(C) Maharashtra * (D) Tamil Nadu

31 gamaul 2022 eir Aeveugtiiig., et . .

ol g ~H b bl g@s Glsmetarerey Gy o
q@@&&gﬁ&&i ﬂfﬂ&&@ 2QLDDGV .@QJWUUI_I_'@@ (_I,DQG\S)I_L'D m@d_’@p; . SITevsrL_
(A) sipm_sip BY s

. L8) oemrayuy o (D) siBpsn®

) WWW.TAMILMIXEREDUCATION.COM
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iﬁj Which is wrongly matched ?
(A) Igneous Rock — Lime Stone (B) Intrusive Igneous Rock — Sill
(C) Sedimentary Rock — Sandstone (D) Metamorphic Rock — Diamond
Qaupiieh 1851 SaUPTS CLITGER Greng) 7
(A) SLumep = FGUSTGRITLDL] LITEnM (B) ssrmyadw Srimewp — Fed
(C) vigoyLInesp — LOGRTD LITEDD (D) o sLompliu urep — E@aUFLD

67. Mangrove Forest is located in district. %%I:]
(A) Cuddalore (B) Coimbatore (C) Dharmapuri (D) Salem = &
FgIUL Bl & THIS6T OraIL L S$BI60 26 LOBSIGTETS)-

(B) Gsmutbyyggni (C) sy . (D) G&evid

(A) ST
Consider the following statements and answer the right option from the given.
Assertion : Braindrain is related to educationally specific selective migration.
Statement (A) : Unemployment and under employment are the reasons for Braindrain.

Statement (B) : Country of origin is gaining potential leaders and talent.

(A) Statements (A) and (B) are wrong (B) Statement (A) true, (B) wrong

(C) Statement (A) wrong, (B) true (D) Statements (A) and (B) are true
eiTauBLD eUTSFNIBISEET &0 5Gl6h Gl mauar(h) Qar( sl eTereupmIeT Filwimes

ans@usans Csipols0-
aarLg) CsiboSHISSLILILL ST Far

N TR LyeorGlLIwi&E) 1
@ LiQuuwiGaIr® QBT WSTSLD.
aurs@wid (A) : Pl LQUUERSEES CovenevaumiitiLfeTento opmiLh H&SSCEHL

CouenaviflaiantoGus Smyewth HSLb-
ouré@uih (B) : LInpspn® TSiEme
QUGS . .
(A) aung@wib (A) pmid (B) 560 (B) auré@uib (A) &l (B) saums
) aurg@wip (A) saumi, (B) &l (D) euré@uwib (A) oppitb (B) &l 2
Jatinum in the world ?

69. Which is the largest produce of P
ich country is the largestP (C) China (D) South Aftrica

(A) India (B) Russia i G 0 X
Sormt iy o 2 puig@ie a-wBG0Y DA IO TB L e
4) @sSuir (B) gapuim (C) Geormr (D) Glpeir yLuMssm
o ] £ the Bar ESE
70. Drill; : : je drilled 1 the layer of the Earth. _
(Ar)mmg ofoil wells ]S];he;:zmle (C) inner core (D) outer core It
Y QﬂcmSt u;: 6 AP &) GwT )5 GIT e LESLILIBEGTDET ?
(A) mf‘j’g B) TP (C) eair s@ailed (D) Gavafl &@wailed
F ind out the wrong pair. kpur (B) Rani Lakshmi Bai —J hansi
C) Ix\l/lellngal Pandey — Barrﬁ;ai (D) Kattabomman — Nerkattum Sevel
elunachiyar — Sivaga
. B .
i\mﬂ)mz:w @)emewTeni 8;6631:';5& (B) grenflevl HLblLImi — QIGHH)
) s U, () s Ounboss - OB 00 Co0d
h"‘---...__._“_“q!hm m@]&n&@mﬂﬁ' —_— -61]‘--“."””‘”___"__,,-......--.._...-...,.-.._‘_................-.-......».. -

" enre e
v Ut oo o 5 8

68.

SENGVEITSEGITLILD, B0 LOFTSEHGTULD

A,
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72.

73.

74.

75.

76.

Who discovered the direct sea route to India from Europe ?
(A) Columbus (B) Megallen
(C) Vasco da Gamma (D) Marco-polo

@Coriiurafel)wis:) @ﬁ@mn@ﬂp@ Crog sL_6d aufanus SETRINY SFaur wiai ?

(A) OsmevibLien * (B) Oosevevair

(©) eunmevGsmL_smom (D) wmiGsr GunGeur

Who emphasized the unity of Hindu-Muslim ? %&g
(A) Ramanuja (B) Adi Shankara (C) Kabir (D) Meera Bai
Qb&I, (LpeveSitd gnHmienioew aueSuymigSwest wrr ?
(A) @Qomwenigeir  (B) 98 smisgi . (C) &5 (D) Bom umds

Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 ?

(A) Yassar Arafat (B) Robert Schuman *

(C) Konrad (D) President Nasser

1964 6b o_(FounssLiu L Lmwavger alBSamew QUUSSSBIGHT LOSSSTCT SEGVeT WMt 9
(A) wrsir oTuS (B) gLt auydLoG

(C) Qsmesrgm_ (D) @it prs

Who founded the Adi Dravida Mahajana Sabha in 1893 ?

(A) Rettamalai Srinivasan (B) Swamynathar

(C) T. S. S. Rajan (D) V. S. Srinivasasastri

1893 &b @D ymadl_ Lo&HTYaT FEHLI GTGHEHILD jeLOLIEL! 2 (BeITSS WG WiTi ?
(A) Qo ewi_venev Fasflaunsast (B) saumblpnsi

(©) T.S. S. gnggesr ’ (D) V.S. usfasflouns Fnav@i E :El

The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is
(A) Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE

SBPBIG Fraleh sienpwneDd GL-LOEEHET LingSLILISHTS FBLSHD ClgmL_misil L
®»&CLS QFwaeSufer GLiwi ?
(A) smeucveir (B) smeuad 2509  (C) 1g.erairGLImeD (D) wgarairGrLimeSan

e ———— R TR AR L SR
I T,

WWW. TAM I LM I XEREDUCATI ON COI\/I



-17-

77, In Tamil Nadu, where w .ot

as undef'water Archaeological site Museum established ?
(A) Tranqubar (B) Korkai (C) Musiri D
SiBpE i Bpaiq iy Qprebsdu . (D) Poompuhar
® - Gacironsi ? S TUGLIILIGY SETLD S GESTLPWELD LS
() syiisbumg  (B) Gampes (€) @ e (D) wbLjsmr
FASTag at the Toll Gates uses which waves ? @
(A) Infra Red Waves (B) Radio Frequency Waves
(C) Ultra Violet Waves (D) Micro Waves
sRIEd FTaUL BN Sy LDBSIATET oSLITAVL L1656 c155 e SEIET
Lu@mn@a’s&ﬂu@@a&wm ?
(A) 9 Rautiy SAOSSBI o
(C) L 20751 SOWEGT

78.

(B) Goig G gyamaasflas
(D) masT @ sGT

79, Match the following :

Country Year of Independence

i) Sri Lanka a) 1971

ii) China b) 1948

ii) Bangladesh c) 1949

iv) Pakistan d) 1947
(A) a b c de
B)b a c d
C)b c d a
D) b c a d

QuIBSSIS

516 @b QLD SIG

i) wewmst a) 1971

ii) Serm b) 1948

i) uRiGeTTCHeY c) 1949

iv) Ln@laig e d) 1947
(A) a b c d
B) b a c d %
(C) b [ d a B
D) b c a d

80. Who is the author of the book ‘Keezhadiyil Ketta Thalaattugal’ ?

(A) S. Venkatesan (B) Erode Tamilanban-
(C) Vela Ramamoorthy (D) Karthik Subramantyan
‘Brpig ued GaL L MML‘—@&G?" e proden BEAT wr g
(A) &. QourisGLsgar * (B) #GyT0 slpTIT
(©) Gauow prioepis® P L —

-
" —
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PART-B : Psychology

81. Complete the following ;
If 1 had had money,

(A) Twould invest in th i
. b ‘
(C) I'will buy a car Soiiness

82. Choose the suitab]e '
uestion tag.
Nobody called, ) ag?
(A) do they (B) didn’t they
83. Choose the correct passive form.
The manager appointed many office

(B) Twill have deposited in the bank
(D) I would have donated

(C) did they »

assistants.

Elgl!]
O}y

(A) The manager were appointed many office assistants

(B) Many office assistants appointed the manager

(C) Many office assistants were appointed by the manager »

(D) The manager was appointed by office assistants

84. Choose the appropriate word for the following :
“any building of a past age, regarded as a historically important place”.
(D) Sanctuary

(A) Exhibition (B) Laboratory

85. Fill in the Blank.

If your friend always thinks the best will happen, she is
(C) Creative »

(A) Humorous (B) Optimistic

(C) Monument »

(D) don’t they

86. Choose the correct meaning of the idiom “a couch potato”.
(B) An important person
(D) An ideal person

(A) A clever person’
(C) An idle person

87. Choose the option which has logical
I. ‘Fine’ means healthy

‘Fine’ means the amount paid for punishm

IL. In the above sentences, the word
(A) 1is false II is true
(C) 1is correct II is incorrect

88. Match the following :

a) Beauty I) Adverb

b) Pretty 1) Noup &
¢) Neatly I1I) COI-'I_]ur-lCtIOI‘l
d) Unless IV) Adjective

(AIVIDI (B IIVIII

relevance.

ent.

(D) Frank

‘Fine’ is the example for ‘Homophone’.
(B) I and II are correct
(D) I and II are false

e (©UIIVIN

89. Fill in the blank with the suitable conjunction.

You cannot go abroad

(A) still (B) until ,

90. Fill in the blank.
It is our responsibility
~ (A) tosave 1 (B) saving

you get the visa.
(C) if

sparrows.
(C) to saving

[oro)
= Egﬁ

1 i s 142

T WWI TAMTTMTXEREDUCATIO
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(D) otherwise

(D) for saving
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® k"

-raij + o1t ereiTUBETS CHFiSS) 1SS HlarL &EGLD GlFmev

o (A) SLoguili (B) sLbpudli (C) 2w (D) (Lo
92. pEPUPSED areiTagiLh GlFnevenevls LIMSSI eTUpSS @GU)L_L.J-L!@
. (A) BT + WHS® (B) metrdf) + amﬁ?éfv »
(C) BeTml + SAPISD (D) peimpy + wlHed
¢ 2 ] - . - - . - Ggﬁi@g@.
‘ @, Fovse’ - @FCleTebadlar @)evssens @gﬂue?)ug -
e (g@g@dsggagngﬁadr s (B) @9'1_66):!_85 @Gﬂaﬁ_?as.m
(C) uenS 61 Ten & & 6T (D) aflenars GlSMen 6T
o7 s QFTHODILang SevTL 1% _ . _ o
% ggmi;mmmmg' DBSSF ClFUIST6HT (B) spms Los@aT FDTSL :.uz;sis eSS
(C) 2jeuait B\(m.5 B\ GGt (D) ueTel&GL LSSHmSET UBAISSTIT
4 o .. EE
95. S HMeVSHG 2 GOlISSH|LD G)ésfft__cmqas 5@:{&{__;157&. ‘%@
g‘?ﬁgg@mwuﬂd) SLOPp&S5eIGHT LIGT QUTDHSEIT ¢ I
(B) Gpaenauuiled SLOLpSEINEHT LIGUT QUTPOITTSHET
(C) Qpeenevuiled SLOpS&HaI T LIGVT @mbpi@.r_r).nﬂasfm .
(D) Qpeveraulleh HLOlLpS&aTNEHT LIGIT QUTLPFIGTDTITSHET
96. @uisvigniLd G ueniLd Blastm 2 uSlipest SESLI L5 Lb- 6‘15)'66)1_.&»65;1')'[0 QIGUIT fELDSS
(A) @uevenib aGuAenid )G ;o_uﬁiﬁ(.gom.mmm L&L(gw -?;
(B) @QueviIspib oG uflawib HlGHTD G)w':u(y{arr GrrsmuL& @&Lb
(C) Queviepib aflGuileniLd H)GHTD a.uﬁlrr@pm aremay LEIST 2
(D) Quebenib afFludeniLd Hlastn 2 w6t eTameu LAGLD ?
97. ‘euenghs @ailwid’ eTeUIEHS @gm_:'r ?
ampmy 1 : alenarOwissd ClsmLiT
@om 2 1 Quwlgses Cmit _ _
(A) @poy 1M, mpmy 2 $0iD1 ¢ (B) smpmy 2 &M, spi 1 50101
©) @pmy 1,2 &M (D) gyewarsgib saini
98. 6j.)@Gi“fL»',r_ﬁ?e;ma;v FnQer ubgl GTUISILD LgmupG’ -@eeuigufied ‘LigmLgGLD’ GTeTLISE
LITHGIT WGl ?
(A) 8rpmesr QumasGar (B) Guoevras GlummGar f
(C) QuerGrosvrer GmEBGar (D) QumsGar
9. ‘51_abBr @ -ereip SBpFATRISSTET, DEBE Geniemas G
(A) Visa (B) Migration (C) Immigration (D) Passport ¢
100. Dereupid erBieQemnaament: CQUITBSSIS %E‘
1) erefig — i) ygeeort mp
2) e - i) ol "
3) @wipHui  — i) gpp
1) @uesewir - iv) 2 paflern
A) i v i e
B iv i §i
~eD) 1 iv

e o Lt s
e Lo 8 Rt b e L SR 4 kb et et
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101. The following question consists of two sets of figures, Figure A, B, C, D constitute the

102.

problem set, figure 1, 2, 3, 4 constitute the answer set, There jg relationship between A and B.
Establish a relationship between C and D by selecting suitable figure from the answer set.

1= RN ST

OpA0]
© 3 D) 4, B

Yetreumed Caeirafluch @S () QISLOTGT GuengLIL Kigsr o GGG, UenILIL_BIger A, B,
C, D eresriicar Caeralé@mdiu Li_kiser, emgLL misar 1,2, 3, 4 resriscsr SN EICINT,
UL miser A wpmib B DG G Gu g CSTLiLy 2 eireng. T Or I I
QLGN 2 Cunwgsiomer LS e

Caiib6lsHag C woHmith D adlesr @e_Gus
e6irer Qsm_rieoLs Hayaseyib.

AN | — /- P
A B C D 1 2 3 4
A) 1 B) 2 (C) 3 (D) 4
Which letter will be placed at the question mark (?) to complete the pattern ?
AZ | BY oo
?7 | CX Iilga;
(A) DK (B) DW * (C) DL (D) DE
Gachals @i QpBa s agsgismmen marsnd Qs UL o Pepo
CFirws (wprguyih
AZ | BY
?7 |CX
(A) DK

(B) DW (C) DL (D) DE
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103. According to the given diagram which one of the following statements is true ?

/

A L Philosophers
Historians

B
(A) All historians are magicians =
(B) Some magicians are philosophers as well as historians
(C) All historians are either philosophers or magicians
(D) Some historians are philosophers

QarR&sLILLL aIegUL ST ppaLd Bipsam@arer b5 Sfidans 2 @TamL ?

/[

B > spgiasans
sugempIRMwT

] wmHpTAMUGLD i@ Y . o '
((g gzwtgﬁgimn%isﬁ gﬁgwmn@mmmm, augeTHDTMLFTER{LD o _arenestit

(C) er6bev mgwnppn@mw@m ] g&g}mmr@wm@mn IO/ w,g}@gmn@wn&(@mrr
GTGIGVIT
2_airarresit

(Dj fev UFVTDD

Magicians

w,r_r',@gsur@

7@ Aw&6T gg’gummn@ et N
i . i direction is A with 6P _
i dCisto the East of B, n whic :
" IfAA Nor El ;S?th Ofg;nNorth-_West (C) South-East (P) So%th-:\i/)es(t:
(A) 1\'Tort -Ba;@‘ @g‘@&”&mm’ C ere7U5I B 68 B pdETELD @wBsTe, & &
STTLIZ)

; . Qanalile) 2 GiTeng! . " D
Clunysgeued “ “ﬁg)i Guwps  © Qzer A D) QpaGLDE
05 (A) uL_Bp3S& y ' that depicts the correct relationship among the three groups.
. Choose the Venn diagré

Dogs, Pets, Cats

E[s]
0 S
(C) (D)
(&) @ (B) OO , |
o1 2 p@e @g‘g_r,rﬂé;@tb Qavair aaIUL-EPIS

eLpGHT D) @@ésa;aﬂamuﬁ"ﬂ AW

G513 Q\5 (S LD- ,
o 1 |GNGTHET

i, Qe dgTen e Y

©) O (D)
; © OO
_.....,.._..-.---.---‘—-—V°\-/'—~‘-----‘-----.-....... —
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106. For the following question, various forms of a letter series are given with one term MIsSINg
as shown by (7). Choose the missing term out of the given alternatives.

HUA GTZ FSY ERX ?

(A) DWQ (B) DQW e (C) WDQ (D) WQD

Weraimb afewmaled, LCam TSI Q@ LILS6T 2 arere. (3)B6D oL L
TIPS HISHMGT LIGT6U(HLD aNenL_safadl®mbsl Csibgl 61(hEsHea LD EEE

HUA GTZ FSY ERX? ﬁ'&i

(A) DWQ (B) DQW (C) WDQ (D) WQD

107. Ris the brother of A. S is the sister of P. A is the son of S. How is R related to S ?
(A) Son (B) Brother (C) Uncle (D) Father «
R ererueuit A afleir #Gsngr. S ereLiai P uileir G&AsM. A eresTIuT S 6T LDFGHT.
R p@tb S p@Lb eredias 2 pay (Lpemp ?
(A) e (B) #Cznggi
(C) womweir (D) speans

108. A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North (B) North-West (C) South-East® (D) North-East

R 3 SYFTISH e Lwewd 4.30 sT_QEDG, FILOL 1per HpdE CrrsGullpbs 6,
LoGufi(LpeiT 615S Hengenw CrTEE ()(HdHEGLD

(A) s (B) eur_Gop
(C) QsergpsE (D) euL &8s

109. If the code for ‘STABLE’is 1 23 4 5 6 and code for ‘LABOUR’is 53 4 7 8 9, then what
will be the code for ‘BOTTLE’ ?

(A) 472256+ (B) 472556 (C) 472265 (D)475526
fov GoIil B <jg.Ciuen_uiled ‘STABLE’ erestusesr @mluf® 1234 56 gy sab, ‘LABOUR’
ereTLger @GBUi® 534789 gsaub @ eirder, ‘BOTTLE’ eraruger @mMlui® ercirer o
(A) 472256 (B) 472556 (C) 472265 (D)475526

110. Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
Again he turns right and walks 14 feet. How far is he from his house ?

EY¥E
(A) 4feet ® (B) 5 feet (C) 24 feet (D) 42 feet ‘E?g\ﬁ
grem s oIl 19edBEs Pps@ Cors® 10 oy pLps 96T URGILDD bl
3 9j1g. BL_E@DIGHT. LogyLILgujld SjeueT euevgmid Bpibrd 14 g BLEEwnair. oyauer
QI 19 GS(BbI 6TGIGUGT®| SITLDTE: 2 GITGTTGH ?
(A) 4 =g (B) 5 g (C) 24 9y1g (D) 42 9y1g.
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113.

114,
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S
-
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Find the number of triangles in the figure below.

ol

EV

(A) 10 (B) 12 (C) 13 (D) 14 =

@1pSTEYILD UL GBIV GTSSET (Lp& G TGETEISHGIT o_GITGTGYT.

2N i

(A) 10 B) 12 (C) 13 (D) 14

Which of the diagram represent the statements ?
_ Some musicians are teachers
_ Some teachers are players, but

_ No musician is a player.

*) (% ®| D ©/00O ® ]

19eirau(HLd UL SH 613 Qar@SsLILL(BeTaT aurd@uiisamer GPSEDS ?
- Ao @m&wmmﬂunmﬁa;sﬁr <y, A Awiiiser

- Ao YPAwiiser afememum(® oJgiEeT, 2, GTITGV,

aflenarwm_(® afFiser @)evemev

— 6ThS @m&wsmwﬂurrmﬁas@m

) @ ®) @ ©|O O] ®

Check the odd one out.

1, 8, 65, 64

(A) 1 (B) 8 (C) 65+ (D) 64

S50 GEELD et T0SS TGS El5E

1,8, 65, 64 Ega

A) 1 (B) 8 (C) 65 (D) 64

Ramu ranks seventh from the 0P and twenty sixth from the bottom of a class. How many

students are there in a class ?

(A) 34 (B) 32 (€) 31 (D) 33 ¥

8 ougifer i L1 1ew 7P GLoaidiig) giprous) @QL-smsub SPmESI
@@U§@ DTS @L_gmgu/w Cupmierenniy. eu@GLILI6) 6T e ur LDTGWOTGU TS GIT
2_6iranraur.

(A) 34 (B) 32 (C) 31 (D) 33

Sl
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115. Find the missing character from the given alternatives.
16% 124 2y 9% 10Y ?

(A) -21 (B) 12 (C) 32 (D) 22 ¢

YeireupLh erasnseney Caarald@Bull L eTev 615! TG SETLHIILD ?

f?
16 12 21 0 10 / EYE
Y Y Y El%i:
14 15 16

(A) 21 B) 12 (C) 32 (D) 22
116. If 80 is added to 80% of a number gives the same number. What is that number ?
(A) 500 (B) 400 (C) 800 (D) 600
@7 e1assTawsflesr 80% 2 L_atr 80 296 gl PLbCLingy HCs 61697 HleNL_EEDSI. ABS 616307 6165T6H
(A) 500 (B) 400 (C) 800 » (D) 600
117. The next term in the sequence
15,17,20,22,25,... i8

(A) 28 (B) 29 (C) 27 » (D) 26
15,17, 20,22, 25,... eratip Olsm_Mer o@s$s 2 miliL]
(A) 28 (B) 29 (C) 27 (D) 26

118. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
then the sum is

(A) T 3,650 (B) ¥ 3,750 (C) ¥ 3,450 (D) ¥ 37,750

GG @@ GOILELL Cgtaass 10% e’y o556 2 YRS sifds)
3 750 saflai’ gwns ClegisBlare ggar oyaw CFTams SO mem
(A) % 3,650 (B) ¥3,750 » (C) ¥ 3,450 (D) 37,750 E‘%@

119. 45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 (C) 162 ° (D) 115
@5 UTEYiB 2:HUSHE OFdiytb Blpyeuaib 45 arerriseamaer 5 prl safleh 2 PLSS)
QewRng araflev, SypFpaend 18 pm’ el 2 puss GClFdnyh awrewmisaisr
cIassTasslldend GIGHIGHT 7
(A) 125 (B) 324 (C) 162 (D) 115
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120. 1. Every rational number is a real numbers
II. Every real number is an irrational number
(A) Iisco |
(Ci o Irfeztu (B) Il is correct °
I " and II are correct (D) both I and II are incorrect
. @eIGlaur( aIGISLpm eTRTETILD @ otisOwscss. E4E
II. ga@an Godtuarayh al&sipnT GTGTHT. Egiﬁ
(A) 1 eratrigy & (B) 11 eretrigy &l
(©) 1 pmitb 1T @uassr@d il (D) 1 opmyed 11 @ueT@IDd S

121. Find the odd word.

(A) Arrow (B) Sword (C) Knife (b) “Axe
,ée‘ifﬁ,&',@@a%@m TS SIS Sear(pLig
(A) by (B) eumeir (C) 538 » (D) Gsm_m
122. Arrange the words in meaningful sequence.
1. Weaving 2. Cotton 3. Cloth 4. Thread
(A) 2,4, 1,3 B) 2,4,3,1 ©) 4,2, 1,3 ) 3,1,4,2
UG ESH T 9 SSLpETaT Rl JBSSaID
1. Glr&ay 2. LSS 3. glewf 4. meL
A 2,4, 1, 34 B) 2,43, 1 (C) 4,2,1,3 D) 3,1,4,2
A is to the right of Band E is to the left of

ouses A to E, in a row,

he right of D Which of the house i in the middle ?

123. There are five different h

C and right of A, B istot ’
(A) A (B) B ©C~ (D) D
A pse E auenyd R auMensulled YL I (H&HET 2-GITGTE- A erairLigl B 6 @ aib, E
eraiig) C &7 @L__@ggu_b, A afler AIWBHRILD o cirongl- B eraiTLig D & UEBIGY 2 GITATSI-
as ai® BRI o giraidl ? E4E
(A) A (B) B ©C (D) D ’;ﬁgﬁ

124. In a class of 45 students, 2 boy 18 ranked 20" when two boys joined, his rank dropped by
one. What is his new rank from the end ‘
(A) 25° ®B) 26" (©) 27" (D) 28"
45 1prenTaiseT LIy SGLD agtiie 20 Ayousir 20018 @yrises Quyppyeiromair. Q) a1 (h)
Ayouiiaer G 5GLIE o5l 57 auflans el GEDHSICTTEI- gL Gulldd @G53
yaurs LB ggafa® raast 7
(A) 25" (B) 26" (C) 27" (D) 28"

P et i -

ot
_,...-.--—n—..—
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125. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than
T. Two of them can lift weight less than P, S does not lift minimum amount of weight. Who
among them lifts the maximum weight ?

(AT « (B) R ©Q (D) §

S ueasgrsGuarisaicd (P, Q, R, S wpmib T) Q wyeurt P & A ISH% eTenL_ew
Sn5@GSpmi. yewred, T @ ol Gopeuner ean_eow SNSGEwmi. gyeuiseafen
Qi P g ol Gopss e mu g1és wpyuh. S GODLSLIL F GTenL_eols
gnésallevene. @Qeuiseley, wr HBsUL & e SSGHwr 2

(A) T (B) R © Q (D) S
126. Match the following : %%E
i) Co-efficient of range 1)4:3 &
ii) Co-efficient of variation 2)3:2
iii) 32: 24 3) EXIOO%
: . L-S§
1v) Ratio of 3 m to 200 cm 4) — =
L+S
(A) 4,1,2,3 (B) 2,3,4,1 © 4,3,1,2" (D) 1,4,3,2
Qs s)s.
1) afs#sGlsw 1) 4:3
ii) Lrpum G615 2)3:2
iii) 32 : 24 3) 2x100%
X

iv) 3 18 d@th 200 Qb d@tb 2 cirar aIDzid 4) =5

L+S
(A)4,1,2,3 (B) 2,3,4,1 ©) 4,3,1,2 (D) 1,4,3,2
127. Construct algebraic equations for the following verbal statement.
Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.
(A) 4x-5=33 (B) 5x +4=33 (C) 4x+5=33, (D) 5x-4=33
leiraud umiGomfls spmid Curwsgioner Qupseniis FcrnG) 2 (BUNEGs.

gafluileir gyLiumadler auwgy paflufer UWBIGHT 4 LDL_BIGL 65T 5 @08 gl L Bewi L0y b.
galludlelr gLiumaller anugs 33 gy @ib. © & & G

(A) 4x-5=33 (B) 5x+4 =33 (C) 4x+5=33 (D) 5x—4=33
128. The triangle with perimeter 12 ¢cm can be

p g : [EH[E
(1) An equilateral triangle - EEIE%{
(i) Anisosceles triangle ’
(A) Only (i) is true® (B) Only (ii) is true
(C) (i) and (ii) are true (D) (i) and (ii) are not true

12 Q.18 spparaysirar @psGamenriser (erasmLomy Sawoweh.

() @6 swuss 1psCaremons Semwweh.

() o0 @wswudss (Lp&EBETETLONS IeLDLIGITLD.

(A) () @b &M (B) (ii) ol ®tb &f)
O ® i (i) oo (D) (i) topayth (ii) seugy

e bt e e |t o o
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129. The side of a square is 10 cm. Ifits side is tripled, then by how many times will its perimeter

increase ?
(D) 3 times »

(A) 2 times (B) 4 times (C) 6 times
R0 Jgﬁgg’,@'m Udsh 10 QF.18 SisaiemL i USSLD eLOGHT] LDL MBI
FPDETQ TSSO LDL_[EISTES 9BsM&EEGL ?
(A) 2 wLAIG (B) 4 wiL_miS (C) 6 LG (D) 3 oIS %
130. What is the probability of drawing a king or a queen from 2 deck of 52 cards ? o
(A) 2/13< (B) 3/13 (C) 1/13 (D) 8/44
52 G (&ar Qsmar @ LGS s 19 BBS @QUTET ADXS! @) gmest]
Gz i 0\ B LIS HSHTET B pSHa TG ?
(A) 2/13 (B) 3/13 (C) 1/13
to the Pie diagram which depicts monthly budget of a famil

@b Gungl,

(D) 8/44
y and answer the following

Refer
three questions (131-133).

D =

0% R A = Food

1 ;./ 25% B = Conveyance
C = Clothing
E C D = Miscellaneous
20% [ o 18 E = Saving
12% F = House Rent

GOLLSSGT LOMS QTS Qravas BL LS55 S (HILD eoLIIGILIL GG LTSS LD.
Gxeiralls @5 & LD (131-133) aflewL SBS-

e ILILIL s LTSS LSesTaUHLD eI

5 A= 2 a6 E4E

- 10% A B = Guné&airds/ lﬂ%:

15% 25%
C=2a@L

- c D = @& ClFaa &t
20% 18% .
B E = Gabliy
12%

F = oI (Beum_ens

131. If total monthly income of the family is Rs. 3,080/~ how much amount is spent on conveyance

per month ?
(C) Rs. 370 (D) Rs. 325

(A) Rs. 400 (B) Rs. 360
GOLLSDET QLoTss LTS5 aupLomatd ep. 3080 eTafleh, R LLTSSHDS
GUITEGITSSIHS TR GlzTens Clewad_LILBS DS ?

(A) e5. 400 B) ¢5-360 (C) e5.370 (D) em. 325
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132. How much rent is paid by the family per month ?

(A) Rs.550 (B) Rs. 462 (C) Rs. 430 (D) Rs. 426 =

R WISSHDG SBULL ereiauare) oI’ () eunL_ens Olraz1Sma ?

(A) em. 550 (B) em. 462 (C) em. 430 (D) em. 426
133. How much amount is spent on clothing per month ?

(A) Rs.530 ¢ (B) Rs. 545 (C) Rs. 580 (D) Rs. 554

R0 LIFSEDEG WdLE515 ereiaane C\srans Clrawal LBEDs ?

(A) em. 530 (B) em. 545 (C) em. 580 (D) em. 554

EYE
Answer the following 2 (134-135) questions based on the bar graph. ﬁ%ﬁ

The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.

CETRESILIC L L e U@ILILIL Sl LTigs, Spauid 2 (134-135) Gaeralls s s
aflenL_ e1(1pGI5.

Car®SsIL1" Bairar L enr_ auenguL_gGleb 2010, 2015 opmyeh 2020 <2, GUT(B): 5 (65 & % Tt
A, B, C apéiiny psmmiseler aasar Clsnans Qar@ésriLL Berars).

%fé 30 /25 - /28 30 7/
SE BB
é 20104 // ////

2015 2020

RN=7ZE

134. Which of the following cities registered the greatest

% variation in the population from
2010 t0 2020 ? EYE
® A ®s. B
€ C

(D) BothA and B

2010 el 2020 aseny 6155 pagsBeir Lodadir Qpmans SHB5 5508510 Gaugyuim g 6
2 _GITeNS).

(A) A (B) B
© C (D) A wpmyib B
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= "

xceeding that of city Aby 20% 7

135. In which year is the population of cityBe
(B) 2015

(A) 2010 °
(C) 2020 (D) Both 2015 and 2020
aps ey B BEISSGT 0SS Qs mens, A B&ISS 6T pgsar ClFremsemil a9,
20% B SLOME 2 6TaTSl 7 ESE
(A) 2010 (B) 2015 Ej%j:
(C) 2020 (D) 2015 opmith 2020 @)geusTGILD
Answer the following 3 (136-138) questions.

anskrit and Maths. R and Q were

In a school, there were five teachers. P and Q were teaching S
nd Q were teaching

teaching Maths and History. S and P were teaching Hindi and Sanskrit. T a
Geography and Spanish.

@psavs 3 (136-138) QNGTTEHS 5SS afenL_wafldEa)Lb.
Liehrafufleh 5 @ MWisen o eraresit. P opmitb Q o lwiiEeT
sHLNEHDTIHET. R wpmid Q <2, A6 seflgLd LOPDILD
S wpHmyb P o), QAW ST afBE LDDILD Foav@@sd sHLI
<, S AwiiseT Ljafufwed LoD e Buicsilay FHLISH DTS
136. Who among the following teacher was teaching less than 2 subjects ?
(B) R

FLoEVE FSLD LoHDILD FewflBLD
augevTmi PLISH D TISHET:
s@pmiser. T womitb Q

(A) P

(C) S (D) There is no such teacher
GBS opFMWITHET 2 UTL_BIE@5&HE GDATS GT(RSSH D TIGET.

(A) P B) R

© S (D) e1B5 o, @M HLd @evemev “

g both Maths and History ?
(C) Pand Q (D) None of these

QUFGIM) LITL_BISHGT SHIISHDATISET ?

137. Which of the following pair was teachin
(A) QandRs  (B) Qand$S
TBs @) P sewflatb LOHDILD

(A) Q wpmibR (B) Q ommytb S ‘Egg_“[a
(©) P opiid Q D) @B argay> @ B

138. P and Q were teaching which subjects ?

(A) Sanskrit and Maths ¢
(C) Geography and History

(B) History and Hindi

(D) Spanish and Sanskrit

Q 15 LML S5 FHDLIGFDTIEGT ?

(B) augeumml LoPOILD anl6&)

(D) avGuicsiay LopmILD FLOGVE (S LD

P wopmiLd
(A) FLOGVSBSLD LopmILh FEwSLD

(C) yauilwed LopmiLth g TDI

o o i e

ot o e o 5 b S g e L L E——
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139. Results of class X of a school are given below. Study the tap)e and answer the questions,

Year 1991 | 1992 | 1993 | 1994 1995
Appeared 198 | 206 | 230 [ 212 | 216
Passed 180 | 197 | 210 ] 203 | 194 | 178

In which year was the pass out percentage minimum ?
(A) 1991 - (B) 1992 (C) 1993 (D) 1995

2@ usrelulle LMD uUGLIL WPY-ayseT GGy CETRESLILIL (B eirare.
L L auememtenwils Ly Sg Cseraild@ uBeweldaayib. .

g 1991 | 1992 | 1993 [1994] 1995 [ 1906 | %
T - 198 | 206 | 230 | 212 | 216 | 130
Gsiis§) Quppmr | 180 | 197 | 210 | 203 | 194 | 178

b5 Yan® CsisF al@sib Gemmains 2 _6iteng 9

(A) 1991 (B) 1992 (C) 1993 (D) 1995
140. Calculate the speed of the car.

360 —[ (360))
300 + 500)

g 180 -

'; 120 +

z
60 -+

0 5 6

Time in fiours

(A) 40 km/hour (B) 50 km/hour (©) 60 km/l%sour (D) Cannot be determined

siletr Gausih eraires 9 EINEL

2 360 | (3601 e

% 300 4+ (300)//

-

g 20 ¢

3 180 |

e

& 120 ¢+

% 60 4 | e

0 ! 2 3 R
Cro Cruseh

(A) 40 Cevrr L Lt/ 1oessf) (B) 50 &Gevrr 18" 1t/ oewd]
(C) 60 &CQevrr LB 17 /1pwsf) (D) Sromefléspigwng
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